CONTRACT OF AGREEMENT FOR



CONTRACT NO : <u>2023-292</u>

TITLE : CONSTRUCTION OF MULTI PURPOSE BUILDING

LOCATION : Calapangan Norte, Lasam, Cagayan

KNOW ALL MEN BY THESE PRESENTS:

THIS CONTRACT made and entered into this 12th day of December, 2023 by and between the Local Government Unit of Lasam, Cagayan, represented herein by the Municipal Mayor DANTE DEXTER A. AGATEP as LGU Lasam.

(Hereinafter called the owner)

PARTY OF THE FIRST PART and C.J.T. PASCUAL CONSTRUCTION

(Hereinafter called contractor)

represented by MS. CHARESMA JOY T. PASCUAL as PARTY OF THE SECOND PART.

WHEREAS, the owner is desirous that certain works should be supplied and delivered , namely: <u>CONSTRUCTION OF MULTI-PURPOSE BUILDING @ CALAPANGAN NORTE, LASAM, CAGAYAN</u> has accepted the bid by the Contractor for the supply and completion of such works, for the amount of <u>Nine Hundred Ninety</u> Five Thousand Four Hundred Four Pesos and Eighty One Centavos (995,404.81).

The whole works comprised in the contract shall be completed within 149 calendar days, in accordance with the provisions of the Bid Documents.

The contractor, at his own proper cost expenses shall fully and faithfully perform all work, furnish all the materials, equipment and labor necessary for the supply and delivery consisting of the following items of work involved:

. PASCUA	
CHARESMA JOYT	Contractor

TE DEXTER A. AGATE

ITEM	DESCRIPTION	UNIT	QTY	UNIT	AMOUNT
NO.				COST	
801(1)	Removal of Structures and Obstructions	L.S.	1.00	179,204.85	179,204.85
803(1)a	Structure Excavation(Common Soil)	CU.M.	21.19	374.86	7943.28
804(1)b	Embankment from Borrow	CU.M.	21.84	660.39	14,422.92
804(4)	Gravel Fill	CU.M.	5.29	1,581.08	8,363.91
900(1)c2	Structural Concrete for Footing and Slab on Fill, (Class A, 28 days)	CU.M.	9.83	7,585.05	74,561.04
900(1)c3	Structural Concrete for Footing Tie Beams, (Class A, 28 days)	CU.M.	1.83	8,224.78	15,051.35
900(1)c4	Structural Concrete for Columns, (Class A, 28 days)	CU.M.	5.61	8,346.32	46,822.86
900(1)c5	Structural Concrete for Suspended Slab, (Class A, 28 days)	CU.M.	5.94	8,351.52	49,608.03
900(1)c6	Structural Concrete for Beams/Girders, Class A, 28 days)	CU.M.	3.94	8,370.02	32,977.88

RODELT. URIAN BAC Secretary

JOSE A. BEBULTÁN, JR.
BAC Chairman

			·		
902(1)	Reinforcing Steel of Reinforced Concrete Structure, G40	KGS.	3,195.29	89.98	287,512.19
903(1)	Formworks and Falseworks	SQ.M.	43.26	592.45	25,629.39
1018(2)	Unglazed Tiles	SQ.M.	22.00	2,134.82	46,966.04
1027(1)	Plain Cement Plaster Finish	SQ.M.	66.00	273.01	18,018.66
1032(1)	Painting Works (Masonry/Concrete)	SQ.M.	94.80	408.90	38,763.72
1046(2)a1	100mm CHB Non-Load Bearing (including Reinforcing Steel	SQ.M.	31.00	1043.68	32,354.08
1046(2)a2	150mm CHB Non-Load Bearing (including Reinforcing Steel	SQ.M.	51.72	1,460.08	75,515.34
4404(22)	Wires and Wiring Devices	L.S.	1.00	29,747.75	9,747.75
1101(33)	Panelboard with Main and Branch Breakers	L.S.	1.00	7,331.23	7,331.23
1103(1)	Lighting Fixtures and Lamps	L.S	1.00	4,610.30	4,610.30
					P 995,404.81

CHARESMA JOYTT. PASCUAL

DANTE DEXTER A. AGATEP

Municipal Mayor

THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. The following documents shall deemed to form and be interpreted and construed as part of this agreement, viz:
 - a. Plans
 - b. Specifications and/or Proposal Booklets
 - c. General Conditions and Special Conditions
 - d. Advertisement or Evidence of Publication of Bids Projects
 - e. Contractor's License and Certificate of Renewal
 - f. Certificate of Availability of Funds
 - g. Performance Bond
 - h. Bids and Abstract of Bids
 - i. Approval of the Award by the BAC Chairman
 - j. Official Government Estimate by Work Items and Cost Components
 - k. Duly Approved Program of Work and Cost Estimates
 - 1. Authority to the Contractor's Representative/Signatory to the Contract
 - m. PERT/CPM or Equivalent Schedule of Work
 - n. Cash Flow Projection and Quarterly Basis
 - o. Other Pertinent Documents as may be Reasonably Required by Owner
- 2. In consideration of the payment to be made by the Owner to the contractor are hereinafter mentioned, the contractors hereby covenants with the Owner to Supply, deliver and complete the work in conformity in all respects with the provisions of the contract.
- 3. The Owner hereby covenants to pay the contractor in consideration of the Supply, deliver and completion of the works, the contract price at the times and in all manner prescribed by the contract and specified in the Bid.
- 4. The implementing Rules and Guidelines regarding adjustment of Contract Price adopted and approved by the government will be applied in this contract.
- 5. The contractor warrants that he has not given nor promised to give money or gift to any employee of the Owner to secure this contract.
- 6. That the contractor shall comply with, and strictly observed, all laws regarding workmen's health and safety, workmen's welfare, compensation for injuries, minimum wages, hours of labor and other labor laws.
- 7. This agreement becomes valid and binding upon approval in accordance with the provisions of PD No. 1594.

IN WITNESS WHEREOF, the parties hereto have hereunto set their respective hands the day, month and year first above written.

CHARESMAJOY T. PASCUAL
Contractor

DANTE DEXTER A. AGA Municipal Mayor

ROBIN URIAN BAC ecretary

ACKNOWLEDGEMENT



BEFORE ME, Notary Public for in the Province of Cagayan personally a	nneared					
HON. DANTE DEXTER A. AGATEP with Community Tax Certificate No. 0	100001 F1					
issued and the Academic With Community Tax Certificate No. C	<u> 18902151</u>					
issued on January 03, 2023 at Lasam, Cagayan, Local Government Unit, Lasam, C	Cagavan					
and CHARESMA JOY T. PASCUAL with Community Tax Certifica	ate No.					
issued on at ,(agayan					
known to me and to me known to be the same person who executed the fo	regajan					
CONTRACT OF AGREEMENT and they acknowledged to me that the same is their true						
act and deed for in behalf of the PARTIES they represent.						
INI MITNIECC MILEPEOE III II II (C. II						

COSE A. REBULTAN, JR. BAC Chairman

Doc. No. : 15/2
Page No. : 23/3
Book No. : 15
Series of: 22/23

NOTARY PUBLIC 1. 1924
NOTARY PUBLIC 1. 1924
NOTARY PUBLIC 1. 1924
NULL NO. 4 522 C - UNIVERS
MULL NO. 4 522 C - UNIVERS
MULL NO. 7 II - UNU0178 - 02/28/21 19
PTR NO. 12777640-01/02/28
APARRI- CAGAYAN

NOTE:

That the provision of Republic Act No. 6685 and DPWH Ministry Order No. 17-A are incorporated in this Agreement.

Failure without good cause by the Contractor or Sub-Contractor to comply with the requirements of Section 1, 4 and 5 of RA No. 6685 shall be penalized by a fine of TWENTY THOUSAND PESOS (P 20,000.00) for the first offense; suspension of ONE YEAR from participating in the public bidding for the second offense; and perpetual disqualification from participating in the public works bidding for the third offense.

CHARESMA JOY T. PASCUAI

ANTE DEXTER A. AGATEP